ORDER NUMBER 90=17

SUPERVISOR'S ORDER
OCCUPANCY AND USE REGULATIONS
RIFLE RANGER DISTRICT
WHITE RIVER NATIONAL FOREST

Pursuant to 36 CFR, Sec. 261.50 (a) and (b), the following act is prohibited in
the area described in this order within the White River National Forest,
effective October 10, 1990,

Over-snow vehicles operating on snow are permitted throughout the area.
Possession or use of other motorized vehicles is prohibited yearlong off of
roads and trails and permitted to operate on designated roads and trails.
36 CFR 261.54(a), 261.55(b), and 261.56.

Area of closure is as described by the following:

The area closed is within the Canyon Creek Drainage, from the east side Canyon
Creek to the point where intersects FPR 601 and south of FDR 601 along the
north side of Carbonate to a peint where it intersects with the existing area
closure, as shown on the attached map Exhibit A. The area will be identified
on the ground by appropriate signing at the points of entry to the closure.

Pursuant to 36 CFR 261.50(e), the following persons are exempt from this order:

(1) Persons with a permit specifically authorizing the prohibited act or
omission.

(2) Any Federal, State, or local officer, or member of an organized rescue
or firefighting force in the performance of an official duty.

Done at Glenwood Springs, Colorado, this _ 3rd day of Octeber, 1990.

%@JM

THOMAS A. HOOTS
Forest Supervisor
White River National Forest

Violation of this prohibition is punishable by a fine of not more than $500.00
or imprisonment for not more than six (6) months or bhoth.

Title 16 USG, Section 551
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